Question

Label the triangle with
the angle being used as A

Fill into the formula

Use calculator to find
missing length.

179 cm

14.7 cm

A b
14.7 cm

a? = b% +c? —2bccos A

x%2=14.72 +17.92 — 2 x 14.7 x 17.9 cos 62

x% = 289.436
= 17.0 em (1idp)

a2 =b%+c2—-2bccosA

x2=62+4+8%2—-2%x6Xx8Xxcos88

>x* = 96.69

2e =SS VG
(20p)

e*- H2+ \52-2x\ 1% 1\5x oS 32

e*= @b 14
o SRl e an)
(2dp)

£ = 652+852’2x65><85x035(;—]

r2 . N32.4A0

f= R4 . 45
(20p)

32 5.22+5-52—-2X5v2x5-5xic:%

§r\ﬂ01
®= A5 e
(29p)




